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Assistant Director of Town and Country Planning in Tamil Nadu 
 

1. If BAT = 23, CAT = 24. Which number is denoted by BOY? 
a. 42  b. 24  c. 23  d. 41  e. Answer not known 
BAT = 23, CAT = 24 vd;why; BOY vd;gJ vijf; Fwpf;Fk;? 
a. 42  b. 24  c. 23  d. 41  e. tpil njhpatpy;iy 

 
2. If A, B, C, D, E, F, G, H is equal to the numbers 2, 4, 6, 8, 10, 12, 14, 16 respectively the find 

the value of ( ) ( )F B A D +  . 

a. E  b. F  c. G  d. H   e. Answer not known 
A, B, C, D, E, F, G, H vd;w Mq;fpy vOj;Jf;fs; KiwNa 2> 4> 6> 8> 10> 12> 14> 16 vd;w 

vz;fis Fwpf;fpd;wd vdpy;> ( ) ( )F B A D +  d; kjpg;ig fhz;f. 

a. E  b. F  c. G  d. H   e. tpil njhpatpy;iy 
 

3. A works 3 times as fast as B and is able to complete a task in 24 days less than the days 
taken by B. Find the time in which they can complete the work together. 
a. 9 days   b. 12 days   c. 3 days 
d. 6 days   e.  Answer not known  
A Mdtu; B I fhl;bYk;  3 klq;F Ntfkhf xU Ntiyia nra;J Kbg;ghh;. Mtuhy; 
me;jg; gzpia B vLj;Jf; nfhz;l Neuj;ij tpl 24 ehl;fs; Fiwthf vLj;J Kbf;f 
KbfpwJ. ,UtUk; Nrh;;e;J me;j Ntiyia Kbf;f MFk;, Neuj;ij fhz;f. 
a. 9 ehl;fs;   b. 12 ehl;fs;   c. 3 ehl;fs; 
d. 6 ehl;fs;   e. tpil njhpatpy;iy      

 
4. If “ZGP” stands for “WIN” then “VMR” stands for 

a. WLS  b.  SOP    c. UPQ 
d. TAP  e. Answer not known 
“ZGP” vd;gJ “WIN”  vd;w thh;j;ijia Fwpj;jhy;> “VMR”  vd;gJ Fwpf;Fk; nrhy;   
a. WLS  b.  SOP    c. UPQ 
d. TAP  e. tpil njhpatp;y;iy 

 
5. Find the diameter of a sphere whose surface area is 154 m2. 

a. 7 m  b. 4 m  c. 6 m  d. 9 m  e. Answer not known 
xU Nfhsj;jpd; Gwg;gug;G 154 r.kP. vdpy;> mjd; tpl;lk; fhz;f. 
a. 7 kP   b. 4 kP    c. 6 kP   d. 9 kP  e. tpil njhpatpy;iy 

  
6. Find the compound interest on Rs. 15,625 at the rate of 8% per annum for 3 years. 

a. Rs. 4063   b. Rs. 4508  c. Rs. 4058 
d. Rs. 4085   e. Answer not known 
Rs. 15>625 f;F Mz;L tl;b 8% tPjk; vdpy; 3 Mz;LfSf;F fpilf;Fk; $ilf;Fk; $l;L 
tl;biaf; fhz;f. 
a. Rs. 4063   b. Rs. 4508  c. Rs. 4058 
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d. Rs. 4085   e. tpil njhpatpy;iy 
 

7. The mean of a, b, c, d and e is 28. If the mean of a, c and e is 24, then the mean of b and     
d is  
a. 24  b. 36  c. 26  d. 34   e. Answer not known 
a, b, c, d kw;Wk; e ,d; ruhrhp 28. a,c kw;Wk; e ,d; ruhrhp 24> vdpy ;b kw;Wk; d ,d; 
ruhrhp 
a. 24  b. 36  c. 26  d. 34   e. tpil njhpatpy;iy 

  
8. Value of a machine depreciates 10% p.a. If the present value is ` 16,000 after how many 

years it will worth half the present value. 
a. 2 years   b. 3 years    c. 4 years 
d. 5 years   e. Answer not known 
`16>000 jw;Nghija kjpg;Gs;s Xh; ,ae;jpuk; jd; kjpg;gpy; Mz;Lf;F 10%  Fiwe;jhy;> 
vj;jid Mz;Lfspy; mJ jw;Nghija kjpg;gpy; ghjp kjpg;ghFk;? 
a. 2 Mz;Lfs;  b. 3Mz;Lfs;    c. 4Mz;Lfs; 
d. 5 Mz;Lfs;  e. tpil njhpatpy;iy 

 
9. The ratio of Rs. 1 to 20 paise is 

a. 1:5  b. 1:2  c. 2:1  d. 5:1   e. Answer not known  
Rs. 1−f;Fk; 20 igrhTf;Fk; cs;s tpfpjk; 
a. 1:5  b. 1:2  c. 2:1  d. 5:1   e. tpil njhpatpy;iy  

 
10. There are four mobile phones in a house. At 5 a.m. all the four mobile phones will ring 

together. Thereafter, the first on rings every 15 minutes, the second one rings every 20 
minutes, the third one rings every 25 minutes and the fourth one rings every 25 minutes 
and the fourth one rings every 30 minutes. At rings time, will the four mobile phones ring 
together again? 
a. 7 a.m.  b. 8 a.m. c. 9 a.m d. 10 a.m.  e. Answer not known 
xU tPl;by; ehd;F miyNgrpfs; cs;sd. fhiy 5 kzpf;F> vy;yh miyNgrpfSk; xd;whf 
xypf;Fk;. mjd;gpd;> Kjy; miyNgrpahdJ xt;nthU 15 epkplq;fspYk; ,uz;lhtJ 
miyNgprahdJ xt;nghU 20 epkplq;fspYk; %d;whtH miyNgtpahdJ xt;nthU 25 
epkplq;fspYk; kw;Wk; ehd;fhtH miyNgrpahdJ xt;nthU 30 epkplq;fspYk; xypf;fpd;wd 
vdpy;> mit kPz;Lk; vg;NghJ xd;whf xypf;Fk;? 
a. fhiy 7 kzp   b. fhiy 8 kzp  c. fhiy 9 kzp   
d. fhiy 10   e. tpil njhpatpy;iy 
 

11. GCD of any two prime numbers is 
a. -1  b. 0  c. 1  d. 2   e. Answer not known 
,uz;L gfh vz;fspd; kP.ngh.t. 
a. -1  b. 0  c. 1  d. 2   e. tpil njhpatpy;iy 

 
12. 12% of 250 litre is the same as _______ of 150 litre  

a. 30%   b. 20%   c. 15% 
d. 10%   e. Answer not known 
250 ypl;lhpd; 12% vd;gJ 150 ypl;lhpd; ――――――f;F;r rkkhFk;. 
a. 30%   b. 20%   c. 15% 
d. 10%   e. tpil njhpatpy;iy 

 
13. There are 560 students in a school. Out of 560 students, 320 are boys. Find thepercentage 

of girls in that school? 
a. 41%   b. 42.86%   c. 43.8% 
d. 44%   e. Answer not known 
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xU gs;spapy; 560 khzth;fs; cs;sdh;. Mjpy; 320 Ngh; rpWth;fs; vdpy;> me;jg 
gs;spapYs;s rpWkpfspd; rjtPjj;ijf; fz;lwpaTk;. 
a. 41%  b. 42.86%  c. 43.8% d. 44%  e. tpil njhpatpy;iy 
 

14. Match the following  
A.  IIPGCM   1. e – governance and security 
B.  CERT – TN      2. Business credit for MSMEs 
C.  ECLGS   3. Rejuvenate rural Industries 
D. TNRTP   4. Helpline Management System 

(A)      (B)         (C)        (D) 
a.   4     1    2            3    
b.    3  2    4      1 
c.     3  4       1      2       

      d.   2  3            4            1    
      e.  Answer not known 
      gpd;tUtdtw;is nghUj;jTk; 
   a. IIPGCMS            1. MSik kw;Wk; ghJfhg;G 
   b. CERT – TN    2. MSM;   
   c. ECLGS     3. fpuhkg;Gw njhopy;fSf;F Gj;Japh; 
   d. TNRTP    4. Cjtp ika Nkyhz;ik 

(a)   (b)     (c)          (d)    
       a.   4      1 2    3     
       b.   3   2 4    1   
       c.    3   4    1    2 
       d.   2   3        4        1          
       e.  tpil njhpatpy;iy 
 

15. The Tamil language was introduced as a medium of instruction in the college of Tamil 
Nadu in the year 
a. 1980   b. 1972   c. 1982 
d. 1970   e. Answer not know 
jkpof fy;Y}hpfspy; jkpio gapw;W nkhopahf mwpKfg;gLj;jpa Mz;L 
a. 1980   b. 1972   c. 1982 
d. 1970   e. tpil njhpatpy;iy 

 
16. What is the name of the Digital Life Certificate for Pensioners? 

a. Jeevan Jyoti  b. Jeevan Pramaan   c. Indra Dhanush 
d. NITI Aayog  e. Answer not known    
Xa;T+jpajhuh;fSf;fhd kpd;dZ Mas; rhd;wpjopd; ngah; vd;d? 
a. [Ptd; N[hjp  b. [{td; gpukhz; 
c. ,e;jpu jD~;  d. epjp MNahf; 
e. tpil njhpatpy;iy 

 
17. The total percentage of reservation given in Tamil Nadu 

a. 69 b. 67  c. 68  d. 70  e. Answer not known 
jkpofj;jpy; cs;s nkhj;j ,l xJf;fPL ―――――― fjtPjk; 
a. 69 b. 67  c. 68  d. 70  e. tpil njhpatpy;iy 

 
18. The Stree Shakti Scheme was introduced by _______ government to empower rural 

women economically. 
a. Tamil Nadu   b. Kerala   c. Karnataka 
d. Andhra Pradesh  e. Answer not known 
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fpuhkg;Gw ngz;fs; nghUshjhu hPjpapy; mjpfhukilj;jYf;nfd> ];jphp rf;jp jpl;lk;> 
―――――― khepy murhy; mwpKfg;gLj;jg;gl;lJ. 
a. jkpo;ehL   b. Nfush  c. fh;ehlfh 
d. Me;jpu gpuNjek;  e. tpil njhpatpy;iy 
   

19. Among the following who participated in the first Anti Hindi Agitation of 1937-40. 
a. Padmavathy Ashar   b. Leelavathy  c. Rukmani Lakshmipathy 
d. Muvalur Ramamirtham  e. Answer not known    
1937―40 y; eilngw;w Kjy; ,e;jp vjph;g;Gg; Nghuhl;lj;jpy; fye;J nfhz;lth; ahh; vd;gijj 
Njh;e;njLj;J vOJf: 
a. gj;khtjp M~hh;   b. yPyhtjp  c. Uf;kzp ,yf;~;kpgjp 
d. %tY}h; ,uhkkph;jk;   e. tpil njhpatpy;iy  

 
20. Early name of the Justice Party was 

a. Madras Mahajana Sabha              b. Madras Native Association 
c. South Indian Liberal Federation  d. Dravidar Kazhagam 
e. Answer not known  
[];b]; fl;rpapd; Ke;ija ngah; 
a. kjuh]; kfh[d rig    b. kjuh]; Nel;bt; mNrhrpNa~d; 
c. njd;dpe;jpa tpLjjiy $l;likg;G   d. jpuhtplh; fofk; 
e. tpil nkjpatpy;iy 

 
21. Match List I with List II and select the correct answer using the codes given below: 

List I            List II 
      Freedom Fighters  Birth place 
      a. Chenbagaraman  1. Sengottai          
      b. Madasamy   2. Vathalagundu 
      c. Vanchinathan   3. Nanjilnadu 
      d. Subramaniya Siva  4. Ottapidaram 
  (A)    (B)  (C)  (D) 
      a.      3     4    1    2 
      b.      4     3    2    1 
      c.       2     4    3    1 
      d.      1     2    3    4 
      e.  Answer not known 
      gl;bay; I gl;bay; II cld; nghUj;jp> fPNo cs;s njhFg;gpypUe;J rhpahd tpilia  
   njhpT nra;f. 
       gl;bay; I     gl;bay; II 
   Rje;jpu Nghuhl;l tPuh;fs; gpwe;j ,lk; 
   (A) nrz;gfuhkd;  1. nrq;Nfhl;il 
   (B) khlrhkp   2. tj;jyFz;L  
   (C) thQ;rpehjd;   3. ehQ;rpy;ehL 
  (D) Rg;ukzpa rpth  4. Xl;lgplhuk;  
  
     (A) (B)  (C)  (D)    
      a.   3  4    1    2 
      b.   4  3    2    1 
      c.    2  4    3    1 
      d.   1  2    3    4 
   e. tpil njhpatpy;iy 
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22. According to Thiruvalluvar those who do not have good human nature are compared to 
a. a skeleton covered by skin  b. a tree  c. a body without soul  
d. an animal    e. Answer not known 
kf;fl; gz;G ,y;yhjth;fs; vjw;Fr; rkkhdth;fs;? vd;fpwhh; ts;Sth;. 
a. vYk;GNjhy; Nghh;j;jth; b. kuk; Nghd;wth;   c. eilgpzk; Nghd;wth;  
d. tpyq;F Ngh;dwth;  e. tpil njhpatpy;iy 

  
23. What will be the sweetest one to those who have not heard the words of a baby according 

to Thiruvalluvar? 
a. Music of Flute, music of Yaazh (Yazhisai) b. Music of Flute, music of Drums 
c. Music of Yazh, music of Veena   d. Music of Veena, music of Flute 
e. Answer not known  
ts;Sth; $w;Wg;gb koiyr; nrhy; Nfshjth; vtw;iw ,dpJ vd;ghh;fs;? 
a. Foypir> ahopir  b. Foypir> kj;js ,ir  c. ahopir> tPizapir 
d. tPizapir> Foypir e. tpil njhpatpy;iy 

 
24. Identify the writers who are referred to as the ‘Kathi’ of Tamil. 

a. Elango, Pugazhendhi  b. Kambar, Thiruvalluvar  c. Aavaiyar, Paranar 
d. Kapilar, Paranar  e. Answer not known 
jkpOf;F “fjp” vd;W miof;fg;gLgth;fs; 
a. ,sq;Nfh> GfNoe;jp  b. fk;gh;> jpUts;Sth; c. xsitahh;> guzh;  
d. fgpyh;> guzh;   e. tpil njhpatpy;iy 

 
25. Who among the Kadai elu vallal offered horses to the needy people? 

a. Athiyamaan   b. Paari   c. Kaari 
d. Aai andiron   e. Answer not known 
,utyh;;fF;f; Fjpiufs; ey;pfa filbaO ts;sy; ahh;? 
a. mjpakhd;   b. ghhp    c. fhhp 
d. Ma; mz;bud;  e. tpil njhpatpy;iy 

 
26. Where are the earliest Republic of Roman coins available in Tamil Nadu? 

a. Chennai   b. Karur  c. Madurai 
d. Thanjavur   e. Answer not known 
jkpofj;jpy; vt;tplj;jpy; Nuhkhdpa FbauR fhRfs; fpilj;jd? 
a. nrd;id   b. f&h; 
c. kJiu    d. jQ;rhT+h;  e. tpil njhpatpy;iy 

    
27. The inhabitants of Marudam lands were : 

a. Kuravar   b. Ulavar   c. Idayar 
d. Ayar    e. Answer not known  
kUj Fyj;jpy; thOk; kf;fs; 
a. Fwth;    b. coth;   c. ,ilah 
d. Mah;    e. tpil njhpatpy;iy 

 
28. Which one of the following journal not started and associated with Mahatma Gandhi? 

a. Indian opinion  b. Young India  c. Navajeevan 
d. Hindustan times  e. Answer not known 
fPo;fz;l gj;jphpf;iffspy; kfhj;kh fhe;jp Muk;gpf;fhj mtNuhL njhlh;gw;w gj;jphhpf;if 
vJ? 
a. ,e;jpad; xg;gpdpad;   b. vq; ,e;jpah  c. et[Ptd;       

d. `pe;J];jhd; ilk;]; e. tpil njhpatpy;iy 
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29. How did V.O. Chidambaram attract the attention of the British? 
a. V.O.C. reestablished the maritime glory of the past 
b. Sold the shares of the Steam Navigation Company 
c. V.O.C. turned the public opinion in favour of the Swadeshi Movement 
d. Launched a Swadeshi Steam Navigation Company 
e. Answer not known 
Mq;fpNyah;fs; jq;fs; ftdj;ij t.c. rpjk;guk; ngahpy; nrYj;jf; fhuzk; vJ? 
a. t.c.rp. fly; fle;j thzpgj;jpd; gz;ila ngUikia kPz;Lk; Vw;gLj;jpdhh; 
b. ePuhtp fg;gy; fk;ngdpapd; gq;Ffis tpw;whh; 
c. t.c.rp. kf;fspd; ftdj;ij RNjrp ,af;fj;jpd;ghy; <h;j;jhh; 
d. RNjrp ePuhtp fg;gy; fk;ngdpia njhlq;fpdhh; 
e. tpil njhpatpy;iy 
 

30. ______ was the uncle of Bhagat Singh who founded the “Revolutionary Bharat Mata 
Society”. 
a. Arjun Singh   b. Ajit Singh   c. Balbir Singh 
d. Kuldeep Singh  e. Answer not known 
―――――vd;gth; gfj;rpq;-d; khkh kw;Wk; ghuj khjh fofk; vd;w mikg;ig 
Njhw;Wtpj;jtuhthh;. 
a. Mh;[_d; rpq;   b. m[pj; rpq;   c. gy;gPh; rpq;    
d. Fy;jPg; rpq;   e. tpil njhpatpy;iy 

 
31. Founder of the Swaraj Party 

a. Bala Gangadhara Tilak  b. Chittaranjan Dass and Motilal Nehru 
c. Bipin Chandra Pal   d. Annie Besant 
e. Answer not known 
Rauh[;a fl;rpia Muk;gpj;jth; 
a. Gyh fq;fhju jpyfh;   b. rpj;juQ;rd; jh]; kw;Wk; Nkhjpyhy; NeU 
c. gpgpd; re;jpu ghy;   d. md;dp ngrz;l; 
e. tpil njhpatpy;iy 

 
32. Which Five Year Plan has the vision and strategy to “Achieve faster, sustainable and more 

inclusive growth”? 
a. Tenth plan   b. Twelfth plan  c. Ninth plan 
d. Eighth plan   e. Answer not known 
ve;j Ie;jhz;Lj; jpl;lkhdJ “tpiuthd epiuahd kw;Wk; midj;ijAk; cs;slf;fpa 
tsh;r;rp” vd;gij Nehf;fk; kw;Wk; cj;jpahff; nfhzlbUe;jJ? 
a. 10 tJ jpl;lk;  b. 12 tJ jpl;lk;  c. 9 tJ jpl;lk; 
d. 8 tJ jpl;lk;   e. tpil njhpatpy;iy 

 
33. Which of the following is not an instrument of Agriculture price policy? 

a. Buffer stocks    b. Support prices  c. Procurement prices 
d. Credit facility to farmers  e. Answer not known 

   gpd;tUtdtw;Ws; vJ tptrha nghUl;fspd; tpiyf; nfhs;if fUtpfs; ,y;iy? 
       a. ,ilaf gq;F    b. MjuT tpiyfs;  
       c. nfhs;Kjy; tpiyfs;   d. tptrhapfSf;F fld; trjp nra;J jUjy; 
       e. tpil njhpatpy;iy 

 
34. The grants – in – aid are given to the states for 

      a. Maintaining cordial Centre-State relation 
      b. Covering routine gaps in state budgets 
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      c. To finance state plans 
     d. Assisting states to undertake development activities and welfare schemes 
      e. Answer not known 
      khdpa cjtp khepyq;fSf;F toq;fg;gLtJ Vd;? 
      a. kj;jpa-khepyq;fSf;F ,ilNa ey;y cwTfis guhkhpj;jy; 
      b. khepy tuT nryTj; jpl;lq;fspy; tof;fkhd ,ilntspfis epug;Gtjw;fhf  
      c. khepy jpl;lq;fSf;F epjpaspf;f 
     d. mgptpUj;jp eltbf;iffis Nkw;nfhs;s khepyq;fSf;F cjTjy; 
      e. tpil njhpatpy;iy 
 

35. Who described Indian Constitution as Co – Operative Federalism? 
a. Granville Austin  b. Dr. B.R. Ambedkar  c. Jawaharlal Nehru  
d. D.C. Wheree   e. Answer not known  
,e;jpa $l;lhl;rp Kiwia ‘$l;LwTf; $l;lhl;rp’ vd tptjpj;jth; ahh;? 
a. fpuhd;tpy; M];bd;  b. lhf;lh;. gp.Mh;. mk;Ngh;fh;  c. [t`h;yhy; NeU 
d. D.C. NthP   e. tpil njhpatpy;iy 

 
36. Which one of the following is not the duty of every citizen? 

a. To abide by the constitution and represent the ideas and institution National flag and 
National Anthem 
b. To uphold and protect the sovereignty, unity and integrity of India  
c. To defend the country and render national service when called upon to do so 
d. To do compulsory military service 
e. Answer not known  
fPo;fz;ltw;Ws; vJ xU Fbkfdpd; flikay;y? 
 a. murpayikg;Gf;F Vw;g ele;J mjDila Nfh;lghLfs; epWtdq;fs;> Njrpa nfhb  
  kw;Wk; Njrpa fPjk; Mfpatw;iw kjpj;J elj;jy; 
 b. ,epjpahtpd; ,iwik> xw;Wik> xUikg;ghL Mfpatw;iw Ngzp ghJfhf;f Ntz;Lk; 
 c. Njitg;gLk; NghJ v;yyhk; ehl;il ghJfhg;gJk;> ehl;Lf;F Nrit nra;aTk; Ntz;Lk; 
 d. fl;lha ,uhZt Nrit nra;a Ntz;Lk; 
 e. tpil njhpatpy;iy 

 
37. Match the following committees on panchayat Raj with their Chair persons. 

Committee     Chairman 
A. Panchayat Raj elections   1. G. Ramachandran 
B. Panchayat Raj Training centres  2. V.R. Rao 
C. Community development and  3. K. Santhanam   
     Panchayat Raj 
D. Rationalisation of Panchayat   4. Smt. Daya Choubey 

      Statistics 
 (A)       (B) (C) (D)  

        a.   3    4  1  2 
        b.   3    1  4  2 
        c.   4    1   2  3 
        d.  1    3  4  2 
        e.  Answer  not known 
    gQ;rhaj;J uh[; gw;wpa FOf;fis mjd; jiytUld; nghUj;Jf: 

 gQ;rhaj;J FO    jiyth; 
        A. gQ;rhaj;J uh[; Njh;jy;  1. [p. uhkr;re;jpud; 
        B. gQ;rhaj;J uh[; gapw;rp  2. tp. Mh;.uht; 

 ikaq;fs; 
        C.  rKjha Nkk;ghLk;       3. Nf. Re;jhdk; 
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  gQ;rhaj;Juh[pd; 
     D. gQ;rhaj;Juh[_k;   4. jpUkjp jah rTNg 
  Gs;spapay; gFg;gha;jy; 
   
             (A)       (B) (C) (D)  
         a.   3    4  1  2 
         b.   3    1  4  2 
         c.   4    1   2  3 
         d.   1    3  4  2 
         e.  Tpil njhpatpy;iy 
 

38. Name the case which held that the basic structure of the Indian Constitution  cannot be 
destroyed. 

a. Shankari Prasad Vs. Union of India 
b. Golaknath Vs. State of Punjab 
c. Kesavanand Bharathi Vs. State of Kerala 
d. Minerva Mills Vs. Union of Indiae. Answer not known  
,e;jpa murpay; rhrdj;jpd; mbg;gil tbtj;ij khw;w ,ayhJ vd;W $wpa tof;F 
vJ? 
a. rq;fhp gpurhj; Vs. ,e;jpa xd;wpak;  b. Nfhyf; ehj; Vs. gQ;rhg; khepyk; 
c. Nfrthde;j ghujp Vs. Nfus muR  d. kpdh;th kpy; Vs. ,e;jpa xd;wpak; 
e. tpil njhpatpy;iy 
 

39. With reference to ‘Changpa’ Community of India, consider the following statement: 
a. They live mainly in the state of Uttarakhand  
b. They rear the Pashnina goat that yield a fine wool 
c. They are kept in the category of scheduled tribe Which of the statements given abov 
   is/are correct? 

a. (i) only   b. (ii) and (iii) only   c. (iii) only 
d. (i), (ii) and (iii)  e. Answer not known 
,e;jpahtpYs;s ‘rhq;Ngh’ ,dj;jtiu Fwpg;gpLifapy; fPno cs;s mwpf;iffspy; vJ 
rhpahdjhf fUjg;gLfpwJ. 
(i). mth;fs; Kf;fpakhf cj;ufhz;l; khepyj;jpy; tho;fpwhh;fs; 
(ii). mth;fs; g];epdh vd;w nts;shl;bypUe;J mjpfg;gbahd fk;gspia ngWfpd;wdh; 
(iii). Mth;fs; kiytho; ,dj;jth; vd;w gphptpy; ,Uf;fpd;wdh;. 
a. (i) kl;Lk;   b. (ii) kw;Wk; (iii) kl;Lk;  c. (iii) kl;Lk;   
d. (i)> (ii) kw;Wk; (iii) e. tpil njhpatpy;iy 
  

40. With reference to the prosperity of the Vijayanagar Empire, consider the following 
statements and organize it with chronological sequences 

(i) The prosperity of the Vijayanagar Empire was due to the growth of Agriculture, 
Industries, Trade and Commerce 

(ii) The state followed an irrigation policy 
(iii) Industries were also encouraged by the state 
(iv) Commerce was in land, coastal and overseas 
a.  (i) - (ii) - (iii) -  (iv)  b. (iv) _ (iii) _ (ii) _ (i) c. (ii) _ (iii) _ (iv) _ (i) 
d. (iii) _ (i) _ (iv) _ (ii)  e. Answer not known 
tp[a efu Nguurpd; tsj;ij Fwpg;gpLk; nghOJ fPo;tUtdtw;iw ftdpf;fTk;. 
(i) tp[a efu Nguurpd; tsh;r;rpf;F fhuzk; mjd; tptrhak;> njhopw;rhiy> thzpgk; 
(ii) khepyq;fs; ePh;g;ghrd Kiwia filg;gpbj;jJ. 
(iii) njhopw;rhiyfSf;F khepyk; Kf;fpaj;Jtk; nfhLj;jJ. 
(iv) thzpgk; cs;ehL> flw;fiu Xuk;> ntspehl;ilr; rhh;e;jJ. 
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a. (i) — (ii) — (iii) — (iv)   b. (iv)— (iii) — (ii) — (i) 
c. (ii) — (iii) — (iv) — (i)   d. (iii) — (i) — (iv) — (ii) 
e. tpil njhpatpy;iy 
 

41. Indicate whether the following statements are correct regarding the religious faiths and 
beliefs of the people of Indus Valley Civilization 
(i) The cult of the Divine Mother seems to have been widely prevalent  
(ii) Many figurines of the Mother – Goddess have come to light 
a. (i) and (ii)    b. (i)    c. (ii) 
d. Neither (i) nor (ii)  e. Answer not known 
rpe;J rkntsp kf;fspd; rka ek;gpf;ifapy; fPo;f;fz;l $w;wpy; vit rhpahdit? 
(i) jha; topghL fyhr;rhuk; rKjhaj;jpy; cs;sJ. 
(ii) cUt topghl;by; jha; flTs; topghL vd;W ntspr;rj;Jf;F nfhz;L tug;gl;lJ. 
a. (i) kw;Wk; (ii)   b. (i)    c. (ii) 
d. (i) k; my;y (ii) k; my;y  e. tpil njhpatpy;iy 

   
42. The main constituents of photo chemical – smog are 

a. oxides of nitrogen, CO and SO2 
b. oxides of nitrogen, CO and H2S 
c. oxides of nitrogen, ozone and hydrocarbons 
d. oxides of nitrogen, SO2 and hydrocarbons 
e. Answer not known 
xsp Ntjpg;Gif %l;lj;jpy; cs;s Kf;fpa thAf;$Wfs; ahit? 
a. iel;u[d; Mf;i]Lfs;> CO kw;Wk; SO2 
b. iel;u[d; Mf;i]Lfs;> CO kw;Wk; H2S 
c. iel;u[d; M;fi]Lfs;> XNrhd;> i`l;Nuh fhh;gd;fs; 
d. iel;u[d; Mf;i]Lfs;> SO2 kw;Wk; i`l;Nuh fhh;gd;fs; 
e. tpil njhpatpy;iy 

 
43. The evergreen forests are found in the state of  

a. Arunachal  Pradesh  b. Odissa    c. Wests Bengal   
d. Andhra Pradesh    e. Answer not known 
gRikkhwhf; fhLfs; fhzg;gLk; khepyk; 
a. mUzhr;ryg; gpuNjrk; b. xbrh   c. Nkw;F tq;fhsk;  
d. Me;jpug; gpuNjrk;  e. Tpil njhpatpy;iy 

 
44. The longitude used to determine the standard time of India is  

a. 37˚ 6’ E   b. 68˚ 7’ E   c. 97˚ 25’ E 
d. 82˚ 30’ E  e. Answer not known 
,e;jpa jpl;l Neuj;ij fzf;fpl gad;gLj;jg;gLk; jPh;f;fNuifahdJ 
a.   37˚ 6’ fp   b. 68˚ 7’ fp   c. 97˚ 25’ fp 
d. 82˚ 30’ fp  e. tpil njhpatpy;iy 

 
45. FAME scheme aims at  

a. Electrification of public transportation 
b. Electrification of households in rural areas 
c. Electrification of households in urban areas 
d. Electrification of parks and beaches 
e. Answer not known 
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FAME jpl;lj;jpd; Nehf;fk; 
a. nghJ Nghf;Ftuj;ij kpd;akhf;f  
b. fpuhkg;Gwq;fspy; cs;s FLk;gq;fis kpd;kakhf;f 
c. efh;g;Gwq;fspy; cs;s FLk;gq;fis kpd;kakhf;f  
d. G+q;fhf;fs; kw;Wk; flw;fiuia kpd;kakhf;f 
e. tpil njhpatpy;iy 

 
46. The term “Republic” was first coined in 

a. Greek    b. Rome   c. Germany 
d. France    e. Answer not known 
“FbauR” vDk; gjk; Kjd; Kjypy; nrhy;yg;gl;l ,lk; 
a. fpNuf;fk;   b. Nuhk;   c. n[h;kdp 
d. gpuhd;R    e. tpilnjhpatpy;iy 

 
47. Which of the following tribes and their location is/are correctly matched? 

Tribes (Name)  Location 
a. Jarawas   _ Andaman and Nicobar Islands 
b. Gagra   _ Uttar Pradesh 
c. Koraga   _ Tamil Nadu 
d. Rathwa —        Bihar 
a. (a) and (c)  b. (b) and (d)   c. (a) and (b) 
d. (c) and (d)  e. Answer not known 
fPo;fhzg;gLk; goq;Fbapdh; kw;Wk; mth;fspd; ,Ug;gplk;> vJ ∕ vit rhpahf 
nghUj;jg;gl;Ls;sd? 
goq;Fbapdh; (ngah;)  ,Ug;gplk; 
A. [huh]; - me;jkhd; ekpNfhghh; jPTfs; 
B.  Fhf;uh  - cj;jpug;gpuNjrk; 
C.  Nfhuhfh - jkpo;ehL 
D.  uj;jth  - gP`hh; 

      a. (a) kw;Wk; (c)  b. (b) kw;Wk; (d)  c. (a) kw;Wk; (b) 
      d. (c) kw;Wk; (d)   e. tpil njhpatpy;iy 
 

48. The fundamental similarity of structures between one part of an animal and other part of 
the same animal is called as  
a. Serial Homology   b. Serial appendages 
c. Serial mouth parts   d. Vestigial organs  e. Answer not known 
tpyq;Ffspd; xU gFjp kw;nwhU gFjpNahL mbg;gilapy; xj;jpUg;gJ――――― vd;W 
miof;fg;gLfpwJ.  
a. rPhpay; N`hkhy[p   b. rPhpay; ,izAWg;Gfs; 
c. rPhpay; thAWg;Gfs;   d. nt];b[pay; cWg;Gfs;  
e. tpil njhpatpy;iy 

  
49. d-block elements are called as 

a. Inner transition metal  b. Transition metals  c. Alkali metals 
d. Alkaline earth metals  e. Answer not known 
d-njhFjp jdpkq;fs; ,t;thW miof;fg;gLfpwJ. 
a. cs; ,ilepiyj; jdpkq;fs;  b. ,ilepiyj; jdpkq;fs; 
c. fhu cNyhfq;fs;    d. fhu kz; cNyhfq;fs; 
e. tpil njhpatpy;iy 
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50. Which of the following statement is correct? 
a. No material body can exceed the speed of light 
b. The mass of an object is always invariant  
c. The mass of an object is independent of its velocity 
d. No particles with zero rest mass 
e. Answer not known 
fPo;fhz;gtw;Ws; vJ rhpahd $w;W? 
a. ve;j nghUSk; xspapd; Ntfj;ij jhz;lhJ 
b. xU nghUspd; vil vg;NghJk; khwhjJ 
c. xU nghUspd; vil mjd; Ntfj;ij nghWj;jjy;y  
d. Rop epiy vilAs;s ve;jj; JfSk; ,y;iy 
e. tpil njhpatpy;iy 

 
51. Identify where rote learning can be used 

a. Learning about atoms and elements 
      b. Learning multiplication tables 
      c. Learning about cuboid 

      d. Learning about balance 

      e. Answer not known 
   nghUs; czuhky; fw;wy; vq;F gad;gLj;jg;glyhk; vd;gij milahsk; fhz;f. 
       a. mZf;fs; kw;Wk; $Wfisg; gw;wp fw;wy; 
   b. ngUf;fy; ml;ltizfis fw;wy; 
   c. xU fdr;nrt;tfk; gw;wp fw;wy; 
   d. rkepiy gw;wp fw;wy; 
   e. tpil njhpatpy;iy 

  
52. Find the total area of 12 squares whose sides area given as 12 cm, 13 cm, …., 23 cm 

respectively. 
a. 3818 sq. cm.   b. 650 sq. cm.   c. 4324 sq. cm. 
d. 506 sq. cm.   e. Answer not known 
12 nr.kP.> 13 nr.kP. ….> 23 nr.kP. Mfpadtw;iw KiwNa gf;f msTfshff; nghz;l 12 
rJuq;fspd; nkhj;jg; gug;gsT fhz;f. 
a. 3818 r.nr.kP   b. 650 r.nr.kP   c. 4324 r.nr.kP 
d. 506 r.nr.kP   e. tpil njhpatpy;iy 

 
53. Find the missing term of the sequence: 

7, 26, 63, 124, 215, 342, ______ 
a. 391  b. 421  c. 471  d. 511  e. Answer not known 
gpd;tUk; njhlhpy; tpLgl;l vz;izf; fhz;f. 
7> 26> 63> 124> 215> 342>――――― 
a. 391  b. 421  c. 471  d. 511  e. tpil njhpatpy;iy 

 
54. If 48 men working 7 hours a day can do a work in 24 days then in how many days will 28 

men working 8 hours a day can complete the same work? 
a. 36 days   b. 46 days   c. 38 days 
d. 40 days   e. Answer not known  
48 Mz;fs; xU Ntiyia  ehnshd;Wf;F 7 kzp Neuk; Ntiy nra;J 24 ehl;fspy; 
Kbg;gh; vdpy; 28 Mz;fs; mNj Ntiyia ehnshd;Wf;F 8 kzp Neuk; Ntiy nra;J 
vj;jid ehl;fspy; Kbg;ghh? 
a. 36 ehl;fs;  b. 46 ehl;fs;    c. 38 ehl;fs; 
d. 40 ehl;fs;  e. tpil njhpatpy;iy 
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55. In a two children family, find the probability that there is atleast one girl in a family 

a. 
3

4
  b. 

1

2
   c. 

1

4
  d. 1  e. Answer not known 

,uz;L Foe;ijfs; cs;s xU FLk;gj;jpy;> Fiwe;jJ xU ngz;zhtJ ,Ug;gjw;fhd 
epfo;jfT 

a. 
3

4
  b. 

1

2
   c. 

1

4
  d. 1  e. tpil njhpatpy;iy 

 
56. A and B together can do a piece of work in 16 days and A alone can do it in 48 days. How 

long will B take to complete the work? 
a. 3 days    b. 12 days   c. 24 days 
d. 32 days    e. Answer not known 
A kw;Wk; B Mfpa ,UtUk; ,ize;J xU Ntiyia 16 ehl;fspy; Kbg;gh;. A jdpNa 
me;j Ntiyia 48 ehl;fspy; Kbg;ghh; vdpy;> B jdpNa me;j Ntiyia vj;jid 
ehl;fspy; Kbg;ghh;? 
a. 3 ehl;fs;   b. 12 ehl;fs;   c. 24 ehl;fs; 
d. 32 ehl;fs;       e. tpil njhpatpy;iy  

 
57. One of the diagonals of a rhombus is thrice as the other. If the sum of the length of the 

diagonals is 52 cm then area of the rhombus is 

a. 507 cm2    b. 254 cm2   c. 253 
1

2
 cm2 

d. 507
1

2
 cm2    e. Answer not known 

xU rha; rJuj;jpd; xU %iytpl;lk; kw;wijf; fhl;bYk; %d;W klq;F. %iy tpl;lq;fspd; 
$Ljy; 52 nr. kP. Vdpy;> rha;rJuj;jpd; gug;gsT? 

a. 507 nr.kP2   b. 254 nr.kP2    c. 253 
1

2
nr.kP2 

 d. 507
1

2
 nr.kP2   e. tpil njhpatpy;iy  

 
58. The time taken for Rs. 4400 to become Rs. 4851 at 10% compounded half yearly is 

a. 6 months   b. 1 year   c. 1 1
2

 years 

d. 2 years    e. Answer not known  
10% Mz;L tl;bapy;> miuahz;Lf;nfhU Kiw tl;b fzf;fplg;gl;lhy;> Rs. 4400 MdJ 
Rs.4851 Mf vLj;J nfhs;Sk; Neuk;――――― MFk;. 

a. 6 khjq;fs;   b. 1 Mz;L   c. 1 1
2

 Mz;Lfs; 

d. 2 Mz;Lfs;   e. tpil njhpatpy;iy 
 

59. The principal becomes Rs. 2028 in 2 years at 4% p.a. compound interest. Find the principal. 
a. Rs. 1775    b. Rs. 1785   c. Rs. 1875 
d. Rs. 1885   e. Answer not known 
Xh; mryhdJ 2 Mz;Lfspy;> Mz;Lf;F 4% $l;L tl;bapty; Rs. 2028 Mf MfpwJ. Vdpy;> 
mriyf; fhz;f 

   a. Rs. 1775    b. Rs. 1785   c. Rs. 1875 
   d. Rs. 1885    d. tpil njhpatpy;iy 

 
60. A mat of length 180 m is made by 15 women in 12 days. How long will it take for 32 

women to make a mat of length of 512 m? 
a. 16 b. 18  c. 14   d.   12  e. Answer not known 
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180 kP ePsKs;;s xU ghapid 15 ngz;fs; 12 ehl;fspy; nra;jdh;. 512 kP ePsKs;s 
xU ghapid 32 ngz;fs; nra;a vj;jid ehl;fs; MFk;? 

      a. 16  b. 18  c. 14               d. 12  e. tpil njhpatpy;iy 
 

61. Two numbers are in the ratio 2 : 5. If 4 is added to each, they would be in the ratio  
      4 : 9, then the numbers are 
      a. 16 and 40   b. 18 and 45   c. 20 and 50 
      d. 22 and 55   e. Answer not known 
      ,U vz;fs; 2:5 vDk; tpfpjj;jpy; cs;sd. xt;nthU vz;ZlDk; 4-If; $l;bdhy; mtw;wpd;  
tpfpjk; 4:9 vd mikAk; vdpy; mt;tpU vz;fs; 
      a. 16 kw;Wk;  40   b. 18 kw;Wk; 45   c. 20 kw;Wk; 50 
      d. 22 kw;Wk;  55   e. tpil njhpatpy;iy  

 
62. The greatest 4 digit number which is exactly divisible by 8, 9 and 12 is  

a. 9999   b. 9996   c. 9696 
d. 9936   e. Answer not known 
8, 9, 12  Mfpa vz;fshy; tFgLk; kpfg;nghpa 4 vz; vd;d? 
a. 9999   b. 9996   c. 9696 
d. 9936   e. tpil njhpatpy;iy   

  
63. What is the greatest number that will divide 101, 126 and 152 leaving remainders 5, 6 and 

8 respectively? 
a. 18  b. 24  c. 26  d. 25  e. Answer not known 
101> 126 kw;Wk; 152-I tFf;Fk; NghJ KiwNa 5> 6 kw;Wk; 8-I kPjpfshff; nfhLf;Fk; 
kpfg;nghpa vz; ahJ? 
a. 18  b. 24  c. 26  d. 25  e. tpil njhpatpy;iy 

 
64. Consider the following statements 

(i) Provide direction to e-governance implementation in the various department 
of State Govt. 

(ii) Promote the use of Tamil language and Tamil Unicode standard  
(iii) Improve productivity levels within the Govt. 
(iv) To support seamless services of B2B and B2C 
(v) To support seamless services of G2G and G2C 
(vi) Increase the broadband connectivity 

            Identify the objectives of e-Governance policy (2017) of Tamil Nadu  Government. 
            a. (i), (ii), (iv), and (vi)   b. (i), (ii), and (iv) only 

c. (i), (ii), (iii), (v) and (vi)   d. (ii), (iv) and (vi) only 

e. Answer not know 
 fPNo nfhLf;fg;gl;Ls;stw;iw fUj;jpy; nfhs;f: 
 (i) khepy murpd; gy;NtW Jiwfspy; kpd;-MSik mkyhf;fj;jpw;F topfhl;Ljy;. 
 (ii) jkpo; nkhop kw;Wk; jkpo; A+dpNfhl; gad;ghl;il Cf;Ftpj;jy;. 

(iii) Murpd; cw;gj;jp jpwd; msit Cf;Ftkpj;jy;. 
(iv) B2B kw;Wk; B2C-apd; jilapy;yh gzpfSf;F Mjutspj;jy;. 
(v) G2G kw;Wk G2C -apd; jilapy;yh gzpfSf;F Mjutspj;jy;. 
(vi) Mfz;l miythpir gad;ghl;il mjpfhpj;jy;.  
Nkw;Fwpg;gplg;gl;Ls;stw;Ws; jkpof murpd; kpd; MSikf; nfhs;if 2017-d; 
Nehf;fq;fis fz;lwpe;J Fwpg;gpL. 
a. (i)> (ii), (iv)> (v) kw;Wk; (vi   b. (i), (ii)> kw;Wk; (iv) kl;Lk; 
c. (i)> (ii)> (iii)> (v) kw;Wk; (vi)  d. (ii)> (iv) kw;Wk; (vi) kl;Lk; 
e. tpil njhpatpy;iy 
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65. There are 13 major sea ports in India. Out of which 12 are government ports, ______ is the 
only   corporate port. 
a. Tuticorin port   b. Port Blair   c. Ennore port 
d. Chennai port   e. Answer not known 
,e;jpahtpy; nkhj;jk; 13 nghpa JiwKfq;fs; cs;sd. mtw;wpy; 12 muR 
JiwKfq;fs;―――――― xd;W kl;Lk; ngU epWtd JiwKfkhFk;. 
a. J}j;Jf;Fb JiwKfk;  b. Nghh;l; gpish; JiwKfk; 
c. vz;Z}h; JiwKfkk;   d. nrd;id JiwKfk; 
e. tpil njhpatpy;iy 

66. Match the following  
Scheme               Name 
A. Maternity Benefit Scheme   1. Annai Therasa          

      B. Adolescent Girls Empowerment Scheme 2. Sathiyavani Muthu Ammaiyar 
      C. Free Sewing machine scheme  3. Rajiv Gandhi 
      D. Marriage assistance for orphan girls 4. Indira Gandhi 
      (A)      (B)      (C)      (D)       

a.   1      3      2     4 
b.   4      2       3     1 
c.   1      4      2     3 
d.  4           3           2     1 
e. Answer not known 
fPo;f;fz;ltw;iwg; nghUj;Jf 
 jpl;lk;      ngah; 
(a) kfg;Ng Wey cjtpj; jpl;lk;   1.md;id njurh 
(b) tshpsk; ngz;fs; Nkk;ghl;Lj; jpl;lk;  2. rj;jpathzp Kj;J mk;ikahh; 
(c) ,ytr ijay; ,ae;jpuk; toq;Fk; jpl;lk; 3. uh[Pt; fhe;jp 
(d) Mjutw;w ngz;fSf;F jpUkz epjp  4. ,e;jpuh fhe;jp 
   cjtpj; jpl;lk; 

     (A)    (B)    (C)      (D)       
      a.   1        3         2        4 
      b.  4         2         3        1 
      c.   1        4          2        3 
      d.  4        3         2        1 
   e. tpil njhpatpy;iy 
 

67. Dr. Muthulakshmi fought against which social evil? 
a. Child marriage  b. Devadasi system   c. Dowry system 
d. Polygamy    e. Answer not known 
lhf;lh; Kj;Jnyl;Rkp ve;j rKjha jPikf;F cjpuhf Nghuhbdhh;? 
a. Foe;ijj; jpUkzk;  b. Njtjhrp mikg;G  c. tujl;riz mikg;G 
d. gyjhu kzk;   e. tpil njhpatpy;iy 

 
68. The highest female work participation rate is in the district of Tamil Nadu 

a. Kanchipuram  b. Chennai   c. Coimbatore 
d. Perambalur  e. Answer not known 
“ngz; Ntiy gq;Nfw;G tpfpjk;” mjpfk; nfhz;l khtl;lk; 
a. fhQ;rpGuk;  b. nrd;id   c. Nfhak;Gj;J}h; 
d. nguk;gY}h;  e. tpil njhpatpy;iy 

  
69. How many years Kamarajar served as Chief Minister of Tamil Nadu? 

a. 5 b. 7  c. 9  d.15  e. Answer not known  
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fhkuh[h; jkpof Kjyikr;ruhf vj;jid Mz;Lfs; gzpahw;wpdhh;? 
a. 5 b. 7  c. 9  d.15  e. tpil njhpatpy;iy 

 
70. Name the first lady who was arrested in connection with Salt Satyagraha and the 

president of the Tamil Nadu provincial congress committee        
a. Smt. Rukmani Lakshmipati   b. Sarojini Naidu 
c. Ambujammal   d. Parvathi Devi   e. Answer not known 
jkpo;ehL khepy fhq;fpu]; fkpl;bapy; jiytUkhdth; —cg;G rj;jpahfpufj;ij vLj;J           
elj;jp  ifJ nra;ag;gl;l Kjy; ngz;kzp 
a. jpUkjp. Uf;kzp yl;Rkpgjp  b. rNuh[pdp ehAL   c. mk;G[k;khs;  
d. ghh;tjp Njtp    e. tpil njhpatpy;iy 

 
71. Who will be adored with clasped hands by all living beings? 

a. One who does penance     b. king 
c. One who talks power of subtle penetrating sense  
d. One who talks power of subtle penetration sense  
e. Answer not known 
vy;yh caph;fshYk; if$g;gpj; njhog;gLgth; ahh;? 
a. jtk; nra;jtd;     b. murd;   
c. nfhy;yhd; Gyhy; kWj;jhd;    d. Ez;khd; EioGyk; ,y;yhd;  
e. tpil njhpatpy;iy 

 
72. Which is considered the Chief of all virtues as told by the sages in their writings according 

to Thirukural? 
a. Taking away the troubles of other living beings  
b. Not coveting others wives 
c. Being kind to other living beings 
d. To share your food and protect others  
e. Answer not known 
E}Nyhh; njhFj;j mwq;fSs; jiyaha mwkhfj; jpfo;tJ vJ vdj; jpUf;Fws; 
typAWj;JfpwJ? 
a. gpw caph;fspd; Jd;gj;ij ePf;Fjy; 
b. gpw kidtpia tpUk;ghky; ,Uj;jy; 
c. gpw caph;fsplj;J md;G nrYj;Jjy; 
d. gfph;e;J cz;L caph;fisg; ghJfhj;jy; 
e. tpil njhpatpy;iy 

  
73. Aaputhirane! 

You bestowed and left us 
Amuthasurabhi 
Now 
In our hands we hold a 
Begging Bowl 
Who is ‘Aaputhiran’ and what does the poet mean by ‘Amuthasurabhi’? 
a. King, Atchayapaathiram   b. Gandhiji, Freedom 
c. Manimekali, Atchayapaathiram d. Kaamadhenu, Karpagatharu 
e. Answer not known 
MGj;jpuNd 
mKjRugpiaj; jhd; 
eP je;J nrd;wha; 
,g;NghJ 
Vq;fs; ifapy; ,Ug;gNjh 
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Gpr;ifg;ghj;jpuk; 
-MGj;jpud ahh;? mKjrugp  vJ? 
a. murd;> ml;raghj;jpuk;   b. fhe;jpabfs;> tpLjiy 
c. kzpNkfiy> ml;raghj;jpuk;   d. fhkNjD> fw;gfj;jU 
e. tpil njhpatpy;iy 

 
74. “Though a mother gave birth four different children, the lowest one if he be an educated 

the highest one though he is an elder may bow and obey to him”     
Find our the real meaning of the term “lowest and highest” in the above     Puranaanuru 
song. 
a. Drought and fertile 
b. Caste discrimination 
c. The one who attains fame and name not by birth but by education 
d. All must be educated 
e. Answer not known 
‘Ntw;Wik njhpe;j ehw;ghYsSk; 
fPo;g;ghy; xUtd; fw;gpd 
Nkw;ghy; xUtDk; mtd;fl; gLNk| 
vd;w GwehD}w;Wg; ghlypy; fPo;ghy;> 
Nkw;ghy; vd;gjd; cl;fUj;J ahH?  
a. tWik> tsik 
b. ,dg;ghFghL 
c. gpwg;gpdhy; tUk; rpwg;gpDk; fy;tp mwptpdhy; va;Jk; ngUik 
d. vyNghUk; fy;tp fw;W Nkk;gl Ntz;Lk;  
e. tpil njhpatpy;iy 
 

75. Assertion (A):      Gandhi who was centil then resisting any effort to vivisect the  
 Country had to accept the demand of the Muslim League for creation  
 of Pakistan. 

       Reason (R):          While observing ‘Direct Action Day’ by Muslim League the rioting  
    and killing that took place in Calcutta led to a terrible violence. 
       a. (A) is correct and (R) explains (A)  
       b. (A) is correct and (R) are wrong 
       c. (A) is wrong and (R) correct 
       d. (A) is correct and (R) does not explains (A) 
       e. Answer not known  
   $w;W (A): mJtiu ehl;ilg; gphptpid nra;Ak; Kaw;rpf;F vjpuhf ,Ue;j 

fhe;jpabfs; K];yPk; yPf;fpd; ghfp];jhd; Nfhhpfifia Vw;whh;. 
fhuzk; (R): yPf; ‘Neub eltbf;if ehspy; <Lgl mioj;jNjhL fy;fj;jhtpy;       

fytuq;fSk; nfhs;isfSk; ele;Njhpd’. 
a. $w;W (A) rhp fhuzk; (R) $w;iw tpsf;FfpwJ 
b. $w;W (A) rhp fhzk; (R) jtW 
c. $w;W (A) jtW fhuzk; (R) rhp 
d. $w;W (A) rhp Mdhy; fhuzk (R) $w;iw tpsf;ftpy;iy 
e. Tpil njhpatpy;iy 

 
76. Who was the longest president of Indian National Congress? 

a. W.G. Banerjee   b. Rash Behari Ghosh  c. Abul Kalam Azad 

d. Annie Besant   e. Answer not known 
,e;jpa Njrpa fhq;fpurpy; ePz;l fhyk; jiytuhf ,Ue;jth; ahh;? 
a. W.G. ghdh;[p   b. uh~; gpfhhp Nfh~;  c. mGy; fyhk; Mrhj; 
d. md;dpngrz;l;   e. tpil njhpatpy;iy 
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77. Which of the following statement is correct regarding A.O. Hume? 

(i) In 1883 and 1884 Hume acted as an advisor to the Viceroy Lord Ripon. 
      (ii) He closely associated with Theosophical Society. 
      (iii) In 1884 he formed the Indian National Union.  
      (iv) The object of the Indian National Union was ‘Indian Nationalism’. 
      a. (i), (ii), (iii) are correct (iv) is incorrect 
      b. (i), (ii) are correct (iii), (iv) are incorrect 
      c. (i), (iv) are correct (iii), (iv) are incorrect 
      d. (i), (ii), (iii), (iv) are correct 
      e. Answer not known 
   fPo;f;fz;l $w;Wfspy; v.X. `{Aik gw;wp rhpahd $w;W ahJ? 
      (i) 1883 kw;Wk; 1884 y; `{Ak;> hpg;gd; gpuGtpw;F MNyhrfuhf gzpGhpe;jhh; 

        (ii) gpuk;kQhd rig vd;w mikg;NghL neUq;fpa njhlh;G nfhz;bUe;jhh; 

        (iii) 1884 y; ,e;jpa Njrpa A+dpaid Muk;gpj;jhh; 

        (iv) ,e;jpa Njrpa A+dpadpd; Nehf;fk; ,e;jpa Njrpakhf ,Ue;jJ. 
        a. (i), (ii),  (iii) rhpahd $w;W (iv) tJ $w;W jtwhdJ 
        b. (i)> (ii) $w;W rhpahdJ (iii)> (iv) $w;W jtwhdJ 
    c. (i)> (iv) $w;W rhpahdJ (iii)> (ii) $w;W jtwhdJ 
        d. (i)> (ii)> (iii)> (iv) $w;W rhpahdJ 

e. tpil njhpatpy;iy 
 

78. On what basis, the human development index is formed? 
(i) Level of education 
(ii) Life expectancy 
(iii) Standard of living 
(iv) Non – migration 
a. (i), (ii) and (iv)  b. (i), (iii) and (iv)  c. (ii), (iii) and (iv)  
d. (i), (ii) and (iii) e. Answer not known 
kdpjts Nkk;ghl;L FwpAPL vij mbg;gilahff; nfhz;L cUthf;fg;gLfpwJ? 

       (i) fy;tp epiy 
       (ii) Mal;fhyk; 
       (iii) tho;f;ifj; juk; 
       (iv) ,lg;ngah;r;rp ,y;yhik 
       a. (i)> (ii) kw;Wk; (iv)  b. (i)> (iii) kw;Wk; (iv)   c. (ii)> (iii) kw;Wk; (iv)  
   d. (i), (ii) kw;Wk (iii)         e. tpil njhpatpy;iy 

 
79. According to Micro, Small and Medium Enterprise Development Act 2006, the investment 

for Small Enterprise is 
a. 1 lakh —25 lakh  b. 25 lakh — 5 crs  c. 5 crs — 10 crs   
d. above 10 crs   e. Answer not known  
FW> rpW kw;Wk; eLj;ju epWtd tsh;r;rp rl;lk; 2006 d; $w;Wg;gb rpW epWtdj;jpd;  
%yjdj; njhif ――――― MFk;. 
a. 1 yl;rk; ― 25 yl;rk; b. 25 yl;rk; ― 5 Nfhb c. 5 Nfhb ― 10 Nfhb  
d. 10 Nfhbf;F Nky;  e. tpil njhpatpy;iy 

 
80. “Budget for a surplus if possible, balances the budget at other times, but never budget for 

a defit” — This statement was given by 
a.  Mahatma Gandhi  b. Dr. B.R. Ambedkar c. Thiruvalluvar   
d. Jawaharlal Nehru  e. Answer not known 
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“xU ehL mjd; nryTfisf; fl;Lf;Fs; itj;jpUf;Fk; gl;rj;jpy;> mjd tukhdk; Fiwthf 
,Ue;jhYk; ghjfkpy;iy”- ,e;jf $w;is $wpath; 
a. kfhj;kh fhe;jpabfs;   b. lhf;lh;. gp. Mh;. Mk;Ngj;fh; 
c. jpUts;Sth;    d. [t`h;yhy; NeU 
e. tpil njhpatpy;iy 

 
81. Consider the following statement 

(i) BIMARU states have High population  
      (ii) BIMARU states are low population 
        (iii) Literacy ratio is high in BIMARU state  
        (iv) Per capita income is high in BIMARU state, when compared to other states in India. 
         Among these, which of the following statement are correct? 
         a. (ii) and (iii)   b. (iii) and (iv)   c. (i) and (ii) 
         d. (i) only    e. Answer not known 
    gpd;tUk; $w;iw ftdpf;f: 
         (i) gpkU khepyq;fs; mjpf kf;fl; njhif nfhz;Ls;sd. 
         (ii) gpkU khepyq;fs; Fisthd kf;fl; njhif nfhz;Ls;sd.  
    (iii) gpkU khepyj;jpy; gOj;jwpT tpfpjk; mjpfkhf cs;sJ.  
    (iv) ,e;jpahtpy; cs;s kw;w khepyq;fis xg;gpLifapy; gpkU khepyq;fspy; jyh     ;
 tukhdk; mjpfk;. 
    NkNy fz;ltw;Ws; vit rhpahd $w;W? 
    a. (ii) kw;Wk; (iii)        b. (iii) kw;Wk; (iv) 
         c. (i) kw;Wk; (ii)        d. (i) kl;Lk; 
         e. tpil njhpatpy;iy 

 
82. Consider the following statement (I) and (II). Choose correct answer: 

(i) Parliament is competent to make laws on matters enumerated in the Union List. 
(ii) Parliament alone has power to make Laws on matters not included in state or      
concurrent list. 
a. (I) True (II) False   b. (I) False (II) True 
c. (I) and (II) True   d. (I) and (II) False  
e. Answer not known 
gpd;tUk; thf;fpak; (i) kw;Wk; (ii) ftdpf;fTk;. Rhpahd tpilia Njh;T nra;f.  
(i) gjijSkd;wk; kj;jpa gl;baypy; rl;lk; ,aw;Wk; mjpfhuk; ngw;wJ.  
(ii) (ii) nghJg;gl;bay; kw;Wk; khepy gl;baypy; ,lk; ngwhjitfspy; ghuhSkd;wN 
(iii) rl;lk; ,aw;Wk; mjpfhuk; ngw;Ws;sJ. 
 a. (i) cz;ik (ii) jtW   b. (i) jtW (ii) cz;ik 

       c. (i) kw;Wk; (ii) cz;ik    d. (i) kw;Wk; (ii) jtW 
       e. tpil njhpatpy;iy 

  
83. Consider the following High Courts in India 

(i) Delhi High Court 
      (ii) Rajasthan High Court 
      (iii)  Punjab and Haryana High Court 
      (iv) Orissa High Court 
      Which one of the following is the correct chronology based on their formation? 
      a. (iv), (iii), (ii) and (i)  b. (ii), (iii), (iv) and (i) 
      c. (iii), (iv), (ii) and (i)  d. (i), (iii), (iv) and (iv) 
      e. Answer not known 
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  fPNo nfhLf;fg;gl;Ls;s ,e;jpahtpd; cah;ePjpkd;wq;fis ftdpf;fTk;. 
      (i) jpy;yp cah;ePjpkd;wk; 
      (ii) uh[];jhd; cah;ePjpkd;wk; 
      (iii) gQ;ghg; kw;Wk; `hpahdh cah;ePjpkd;wk; 
   (iv) xhprh cah;ePjpkd;wk; 
   ,it njhlq;fg;gl;l fhyj;jpd; mbg;gilapy; thpifg;gLj;jTk;. 
       a. (iv), (iii), (ii) kw;Wk  (i)  b. (ii),  (iii),  (iv) kw;Wk; (i) 
       c. (iii), (iv), (ii) kw;Wk; (i)  d. (i),  (iii),  (ii) kw;Wk; (iv) 
       e. tpil njhpatpy;iy 

 
84. Which of the following Prime Minister did not resign from his office due to No Confidence 

motion? 
a. H.D. Deve Gowde   b. V.P. Singh 
c. Manmohan Singh   d. A.B. Vajpayee 
e. Answer not known 
fPo;fhZk; ,thfspy; ve;j gpujk ke;jphp ek;gpf;if ,y;yh thf;nfLg;gpd; %yk; 
uh[pdhkh nra;atpy;iy. 
a. H.D. NjtfTlh   b. tp.gp. rpq; 
c. kd;Nkhfd; rpq;   d. V.gp. th[;gha; 
e. tpil njhpatpy;iy 

 
85. The Constitution 44th Amendment Act 1978 changed the right to property from 

I.  Fundamental right to Legal Right 
II. Legal Right to Fundamental Right 
III. Fundamental Right to basic features of ConstitutionWhich one of the given statement 
is/are correct? 
a. I only   b. II only   c. III only 
d. II and III only  e. Answer not known 
murpayikg;G 44 tJ jjpUj;j rl;lk; 1978> nrhj;Jhpikia  
i. mbg;gil chpikapypUe;J rl;l chpikahf khw;wpaJ.  
ii. rl;l chpikapypUe;J mbg;gil chpikahf khw;wpaJ.  
iii. mbg;gil chpikapypUe;J murpayikg;gpd; mbg;gil $whf khw;wpaJ. 
Nkw;fz;l $w;Wfspy; vJ ∕ vit rhpahdJ? 
a. i kl;Lk;    b. ii kl;Lk;   c. iii kl;Lk;    
d. ii kw;Wk; iii kl;Lk;  e. tpil njhpatpy;iy 

 
86. With reference to ‘Unity in diversity’, India is an ethnological museum Which of the 

following is the correct statement?  
(i) Majority of the people of India are descendants of immigrants from across the    
Himalayas 
(ii) People belonging to different racial stocks have common physical appearance and  
food    habits. 

      a. (i)    b. (ii)    c. both (i) and (ii) 
      d. Neither (i) nor (ii)  e. Answer not know 

      ‘Ntw;Wikapy; xw;Wik’ vd;w fUj;jpy;> ,e;jpah ,dq;fspd; mUq;fhl;rpafk; vd;W 
cs;sJ fPNo $wg;gl;Ls;s $w;wpy; vJ rhpahdit? 
(i) ,e;jpahtpy; ngUk;ghd;ik kf;fs;> ,kakiyapypUe;J te;j kf;fspd; topj; 
Njhd;wy;fs;. 
(ii) MtWgl;l ,dkf;ffs; nghJthd ,aw;if cly; mikg;G kw;Wk; czT 
gof;fj;ijAk; nfhz;L ,Ue;jdh; 

       a. (i)     b. (ii)      c. (i) kw;Wk; (ii) 

       d. (i)k; my;y (ii)k; my;;y  e. tpil njhpatpy;iy  
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87. Where the first Indian inscription speaking of the gift of land is located? 

a. Allahabad   b. Girnar   c. Nasik 
d. Patna    e. Answer not known 
,e;jpahtpy; Kjd;Kjypy; epyf;nfhil gw;wpg; NgRk; fy;ntl;L mike;Js;s ,lk; vJ? 
a. myfhghj;    b. fph;dhh;   c. ehrpf;    
d. ghl;dh    e. tpil njhpatpy;iy 

 
88. Mention the name of the Mughal ruler in India when the Persian ruler Nadir Shah 

invaded India in 1739. 
a. Bahadur Shah I  b. Farukksiyar  c. Muhammad Shah  

d. Ahamed Shah   e. Answer not known 
1739 k; Mz;L ngh;rpa kd;dh; ehjph;~h ,e;jpahtpd; kPJ gilnaLj;j nghOJ ,e;jpahit 
Ml;rp nra;j Kfyha kd;dhpd; ngaiuf; Fwpg;gLf;;. 
a. ghJ}h;~hI   b. gUf;~ah;   c. Kfk;kJ ~h   
d. mfk;kJ ~h   e. tpil njhpatpy;iy 

 
89. Whose period was called the period of ‘Sutra Granthas’? 

a. Mauryas   b. Guptas   c. Chalukyas 
d. Cholas    e. Answer not known 
ahUila fhyk; `#j;jpu fpue;j fhyk;’ vd;W miof;fg;gLfpwJ? 
a. nkshpah;fs; fhyk;  b. Fg;jh;fspd; fhyk; c. rhSf;fpah;fspd; fhyk; 
d. Nrhoh;fspd; fhyk;  e. tpil njhpatpy;iy 

 
90. Which of the following statements about Harappa are false? 

(i) The walls of Harappa were not strengthened 
      (ii) Tectonic disturbance caused the ruin 
      (iii) Short — headed Armenoid skulls were found 
      (iv) Harappa disappeared by about 1750 B.C. 
       a. (i) and (ii) true (iii) and (iv) false 
       b. (i) is true (ii), (iii) and (iv) are false 
       c. (i) is false (ii), (iii) and (iv) are true 
       d. (i), (ii) and (iii) are false (iv) is true 
       e. Answer not known 
   fPNo nfhLf;fg;gl;Ls;s `ug;gh gw;wpa $w;Wfspy; vJ jtwhdJ? 
       (i) `ug;ghtpd; Rth;fs; typikaw;wit. 
       (ii) nlflhdpf; FsWgbfshy; efhk; mopTw;wJ. 

   (iii)  Rpwpa jiyiaAila mh;kPdpa kz;il XLfs; fz;Lgpbf;fg;gl;Ls;sJ. 
   (iv) `uhg;ghf fp.K. 1750-f;Fk; gpwF mopTw;wJ 
       a. (i) kw;Wk; (ii) rhp (iii) kw;Wk; (iv) jtW  b. (i) rhp (ii), (iii) kw;Wk; (iv) jtW 
       c. (i) jtW (ii), (iii) kw;Wk; (iv) rhp   d. (i), (ii) kw;wk; (iii) jtW (iv) rhp 
       e. tpil njhpatpy;iy 

 
91. International Tsunami information centre is located in 

a. Jakarta, Indonesia  b. Honolulu, USA  c. Puducherry, India  
c. Colorado, USA  e. Answer not known 
rh;tNjr Rdhkp jfty; ikak; mike;Js;s ,lk; 
a. [fhh;j;jh> ,e;NjhjNdrpah   b. n`hdYY> mnkhpf;fh 
c. gJr;Nrhp> ,e;jpah    d. nfhyuhNlh> mnkhpf;fh 
e. tpil njhpatpy;iy 
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92. Blumenbach classified 5 main races of the world during 18th century, which is based on 
a. Hair form   b. Nose shape  c. Eye colour 
d. Skin colour   e. Answer not known 
18 Mk; E}w;whz;bd; GSnkd;ngf;fpd; 5 tofahd cyf kdpj ,d tifghL ,jd; 
mbg;gilpayhdJ 
a. rpif tbtk;   b. %f;fpd; tbtk;  c. tpop tz;zk; 
d. rUk epwk;   e. tpil njhpatpy;iy 

 
93. Zoram Mega food park is in 

a. Andhra Pradesh   b. Tripura   c. Mizoram 
d. Uttar Pradesh    e. Answer not known 
N[huk; nghpa czT G+q;fh mike;Js;s ,lk; 
a. Me;jpug;gpuNjrk;   b. jphpGuh   c. kpNrhuk; 
d. cj;jpug;gpuNjrk;   e. tpil njhpatpy;iy 

 
94. The largest lagoon lake in India is  

a.  Pulicat lake  b. Kolleru lake  c. Narayan Sarovar lake 
d. Chilka lake  e. Answer not known 
,e;jpahtpy; fhzg;gLk; kpfg;nghpa cg;gq;fop Vhp 
a. goNtw;fhL Vhp  b. nfhy;nyU Vhp  c. ehuhaz; rNuhth; Vhp 
d. rpy;fh Vhp   e. tpil njhpatpy;iy 

 
95. Match the following  

Personality       Specialisation 
      (A) Sathiya Nathella  1. Remote sensing 

(B) Sidhartha Mukerjee  2. Economics 
(C) Geetha Gopinath  3. Cloud computing 
(D)  S.K. Siva Kumar  4. Medicine 

             (A)     (B)      (C)      (D) 
       (a)   1   2        3         4 
       (b)   3   4 2         1 
       (c)   4   3 1         2 
       (d)   2   1        4         3 
       (e)   Answer not known 
   fPo;fz;ltw;iwg; nghUj;Jf  
      Gfo;ngw;w egh;   jdpj;Jiw 
       (a) rj;ah ehnjy;yh   1. Njhiyazh;T 
       (b) rpj;jhh;j; Kfh;[p   2. nghUshjhuk; 

       (c) fPjh Nfhpgehj;   3. Nkfj;njhFg;G 
       (d) S.K. rptf;Fkhh;       4. kUj;Jtk; 
              (A)     (b)      (c)      (d) 
       (a)    1    2        3         4 
       (b)    3    4  2 1 
       (c)     4    3  1 2 
       (d)    2    1    4 3 
       (e) tpil njhpatpy;iy 

 
96. The scheme which offers many open online courses at national level covering 

Engineering, Humanities, Social Science etc. is known as 
a. Subam    b. Swayam     c. Suyam 
d. Swasthyam   e. Answer not known 



 

22 | P a g e  
 

nghwpapay;> khdpltpay;> r%f mwptpay;> Nghd;w ghlj; njhFjpfis Njrpa mstpy; 
jpwe;j ,iza top fy;tpahf mspj;Jf; nghz;bUf;Fk; jpl;lk; ,JthFk;. 
a. Rgk; (Subam)    b. ];tak; (Swayam)  c. Rak; (Suyam) 
d. ];tj;ak; (Swasthyam)  e. tpil njhpatpy;iy 

 
97. Woolsorter,s disease is caused by 

a. Bacillus Anthracis  b. Bacillus Cereus  c. Bacillus Megaterium  
d. Bacillus Subtilis  e. Answer not known 
_______ ghf;Bhpahthy; fk;gsp gphpg;Nghh; Neha; cUthfpwJ. 
a. Ngrpy]; Me;j;uhrp];  b. Ngpry]; nrhpa];  c. Ngrpy]; nkfhl;Nlhpak;  
d. Ngrpy]; rg;byp];  e. tpil njhpatpy;iy 

 
98. Bloom,s Taxonomy of Educational objectives describe about  

a. Cognitive and Affective Domains 
b. Cognitive and Psycho – motor Domains 
c. Cognitive, Affective and Psycho – motor Domains 
d. Affective and Psycho – motor Domains 
e. Answer not known 
GSkpd; fw;gpj;jy; Nehf;fq;fspd; tifg;ghL tpsf;FtJ (tpthpg;gJ) 
a. mwpTrhh; kw;Wk; csrhh; fsq;fs; 
b. mwpTrhh; kw;Wk; cs-,af;fk; rhh; fsq;fs; 
c. mwpTrhh;> csrhh; kw;Wk; cs-,af;fk; rhh;fsq;fs; 
d. csrhh; kw;Wk; cs-,af;fk; rhh; fsq;fs; 
e. tpil njhpatpy;iy 

 
99. Which of the following is a magnetic storage device? 

a. DVD   b. Pen drive    c. Compact disc 
d. Floppy disc  e. Answer not known 
fPo;fhz;gtw;Ws; vJ fhe;j Nrkpg;G rhjdk; MFk;? 
a. DVD   b. ngd; biut;   c. FWe;jfL 
d. gpshg;gpjfL  e. tpil njhpatpy;iy 

 
100. The transition between normal and super conduction state is thermodynamically 

a. Zero   b. Discontinues  c.  Irreversible  
d. Reversible   e. Answer not known 
rhjhuz epiyapypUe;J kPf;flj;J  epiyffhd khw;wk; ntg;g ,af;ftpaypd; gb 
a. RopahdJ  b. njhlh;r;rpaw;wJ  c. kPs KbahjJ 
d. kPs;f$baJ  e. tpil njhpatpy;iy 

 


